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Note :— Attempt Five questions in all. Question No. 1 is

compulsory. Of the rest attempt any four questions.

All questions carry equal niarks.
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1. Compulsory questi(;n.
Write very short; answers of the following : 10x3=30

(a) Microconsumers

() Differences between community and ecosystem
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(¢) Differences Between copyright and trade.mar-'lf}-
(d CO, compensation point in photosynthesis

(¢) Rubisco

2] Flowering inhibitor

(& Ribozyme

(h) Names -of any three techniques of cell biology
- (@)  Coupling and repulsion hypothesis

02 Homology and analogy.
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Brieﬂy discuss the folléwing x | _ 5?<6=30
(@) 'Scope of ecology

() Monoclimax and polyclimax theory of succession
(¢)  Acid Rain

(d) Forest vegetation in Hima(;hal Pradesh

(e) The five main conservation categories established

by TUCN.
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Wdite: notes oo the: Tollowing : 3x10=30

(@) Morphological and anatomical features of xerophytic

leaves
() Sources and pollutants of air pollution

(c) Biodiversity conservation.
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Write brief.'notes on the following : 5%6=30
(@) Causes of deforestation

(6) Pyramid of Biomass

(¢0 Manmade ecosystem

(d) Kranz anatomy

(e) Effect of temperature on enzyme action.
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Briefly discuss the following : ' 5x6=30
(@) Water potential

®b) Stomatal opéniﬁg and closing mechanism

() Passive absorption

(d) Bio}ogical nitrogen fixation

(e?' Electron Transport System (ETS).
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Describe the following : 3x10=30
(@) Mechanism of photosynthesis.

() Fruit ripening

" (¢) Auxins.
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Write brief notes on the following : 54&';:30
(a) Synaptonemal complex

b) Protein factorjes of cell

(c) Mitochondrial e'nzymes

@) Chrorhomere and .centomere

(e) Semiconservative replication method of DNA.
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8 7 Briefly describe thé following : 6x5=30
(@) Three important features of genetic code

) Mechanism of movement of anaphasic

chromosome

(c) Yeast Vectors

(d) Law of independent assortment

- (e) Shell coiling in snails

3] ’ Red green colour blindnéss.
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